
S I Totsthe eua on ath +t-0 av d and B, find e 

ools Qre qualen ukose 

Gu) -d- 

Suhen Hexe n altases tnchens of andave symneTri

Lut -y 

Now rel dThe equaien an +bx+l= 0 
a +b+t-0 

-0 
y +d~o 

Hene, the rguie eahon isCbta- 0, e gat tsomequen f 
We staat wth p 

C) L-Y o 

Ne ee e enulin ax+bral-0 
+b+e -0 
al + J)+C- 0 

Hence, The eud tauien a-bx+c 0 
66) L 

Neu soo he qulion ox+ bt c-0 

a +t= 0 

+ 0 

Henee e Elon a(H+LCI-x)+<(l+x = 0,. Hene



{ "type": "Document", "isBackSide": false }

